## Exponential and Logarithmic Functions Review

Thursday, March 9, 2017 10:28 AM

## Exponential and Logarithmic Functions Review

Rule	Exercise
	$\frac{d}{dx}3e^{5x^2}$
$\frac{d}{dx}e^{u}$	$\frac{1}{dx}$ 3e
$= e^{4} \cdot \frac{du}{dx}$	= 3.6 <sup>X</sup> (10 <sup>X</sup> )
	5x2
<b>4</b>	$= 3e^{5x^{2}} \cdot (10x)$ $= 30xe^{5x^{2}}$
d , , ,	$d_{2r^2}$
$\frac{d}{dx}b^u$	$\frac{1}{\sqrt{2}}$ $\frac{1}{\sqrt{3}}$
= b4. Inb. dy	$=3^{2}, 0, 3.(2x)$
$\frac{1}{\sqrt{2}}$	2 3 2 2 2 2
	= 2xln3.3
d U	$= 30xe$ $= 3 \cdot \ln 3 \cdot (2x)$ $= 2 \times \ln 3 \cdot 3^{x}$ $= \frac{d}{dx} 3^{x^{2}}$ $= 2 \times \ln 3 \cdot 3^{x}$
$\frac{d}{dx}\sin^{-1}u = \frac{u}{\sqrt{1 - u^2}}$	$\frac{d}{dx}$ 5arcsin(4x)
d	- 5 . 4
$\frac{d}{dx}\cos^{-1}u = -\mathbf{u}$	$=5\cdot\frac{4}{\sqrt{1-(4x)^2}}$
$\frac{d}{dx}\cos^{-1}u = -u'$ $\frac{d}{dx}\tan^{-1}u = u'$ $1+u^{2}$	
$\frac{u}{dx} \tan^{-1} u = \frac{u}{2}$	= 20
1+42	$= \frac{20}{\sqrt{1 - 16x^2}}$
$\frac{d}{dx}\ln u$	$\frac{d}{dx} \ln \frac{e^{x}}{3x}$ $d(x - \ln 3x)$
du du	# [lne'- ln3x] > x
= 1 · dy	xL
u $\eta x$	_d (x - ln3x / /
	dx <sup>L</sup> 1 .3
	$=1-\frac{1}{3\times}$
$\frac{d}{dx}\log_b u$	$\frac{d}{dx} \left[ \log_3 x^2 - \log_3 \frac{x^2}{x+2} \right]$
$dx^{-ab}$	$\frac{1}{d} \int_{-\infty}^{\infty} \frac{dx^{\log_3} x + 2}{(x + 2)^7}$
·	Tx [1093 \ - 1093 (\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
- U Inb dx	$\frac{dx}{x^{2}}\int_{0.3}^{1.3} \int_{0.1}^{1.3} \int_$
	X <sup>2</sup> l <sub>m</sub> 3 x+2 l <sub>m</sub> 3
	$=\frac{2}{\times \ln 3}-\frac{1}{(x+2)\ln 3}$
	- Alas (ATELIANS
	$= \frac{2(x+2) - x}{x}$
	$\chi(x+2) \ln 3$
	$= \frac{2 \times + 4 - \times}{\times (\times + 2) \ln 3} = \frac{\times + 4}{\times (\times + 2) \ln 3}$
	$x(x+2)\ln 3$ $x(x+2)\ln 3$

Chapter / Neview	
Logarithmic Differentiation:	
.Take the In of both sides	lny=lnx
· Simplify the In	
. Take the derivative	1. dy = cosx. + (-sinx) lnx sinxin
(Implicit)	y dx y (cosx - sinx linx x (osx)
$\int e^u du$	$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{\cos x}{x} + (-\sin x) \ln x$ $\frac{1}{y} \cdot \frac{dy}{dx} = y \left[ \frac{\cos x}{x} - \sin x \ln x \right] \times \left[ \frac{\cos x}{x} - \sin x \ln x \right]$ $\frac{1}{x} \cdot \frac{\cos x}{x} = \sin x \ln x $ $\frac{1}{x} \cdot \frac{\cos x}{x} = \sin x \ln x$ $\frac{1}{x} \cdot \frac{\cos x}{x} = \sin x \ln x$ $\frac{1}{x} \cdot \frac{\cos x}{x} = \sin x \ln x$ $\frac{1}{x} \cdot \frac{\cos x}{x} = \sin x \ln x$ $\frac{1}{x} \cdot \frac{\cos x}{x} = \sin x \ln x$
J	
$= e' + C \qquad du$	$= \frac{1-2x}{1-2x} = \frac{1-2x}{1-$
d×	$\frac{1}{2}$ dx = $\frac{1}{2}$ $\int e^{\alpha} d\alpha$
$\int b^u du$	$\frac{1}{2} \int x(6^{x^2})dx \qquad \frac{1}{2} \cdot \frac{4}{6} + C$
u:	$\begin{cases} x & \begin{cases} y & dy \\ b & \frac{\pi}{2} \end{cases} \end{cases} = \frac{2}{2} \frac{2\pi b}{h}$
1 - 0 + C dy	= 0 7
ln U	$y=xdx = \frac{1}{2} \int b' du$ $\frac{1}{2} \int b' du$
$\int \frac{du}{\sqrt{a^2 - u^2}} = \arcsin \frac{u}{a} + 0$	$a = 2$ $\int \frac{3}{\sqrt{4 - 9x^2}} dx = \frac{6}{\ln 36}$
$\int du du = 0$	
$\int \frac{du}{a^2 + u^2} = \frac{1}{a} \arctan \frac{u}{a} +$	$\frac{du}{dx}$ $\frac{3}{dx}$ $\frac{1}{2}$
	aycsin -
	= arcsin = 1
$\int \frac{1}{u} du = \int_{\Gamma}  u  + C$	$u=3x-5$ $\int \frac{1}{3x-5} dx$ $\int \frac{1}{3x-5} dx$
	dx : 2   1 = 1 ln   3x-5   +C
	$\frac{du}{3} = \frac{dx}{3} = \frac{1}{3} \int_{u}^{1} du$
$\int u  du = \frac{2}{11} + \frac{2}{11}$	$\int 5x^2(2x^3+1)^4dx$
$\int u  du = \underbrace{u}_{2} + C$	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$
	U4= 0 X
	$\frac{1}{4}$ $\frac{2}{4}$ $\frac{2}{4}$ $\frac{2}{4}$ $\frac{1}{4}$ $\frac{1}$
	6)
	$= \frac{5}{6} \frac{10}{5} + C$ $= \frac{(2x^3+1)^5}{6} + C$
	$(2x^3+1)^5 + ($
	6